Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-IV « EXAMINATION — WINTER - 2016

Subject Code: 340602 Date: 22 - 11-2016
Subject Name: Surveying-I1
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (@) List out various keys on display board of total station you have used and give 07
their basic functions

U1 A dR dluRal e Rstell Brd uR wlal Hadl Slo dle ool 00
Aotl U0l Al

(b) Give contour survey steps to be carried out in total station used by you. 07
ol d clURCl led ML $2R Ad sall Hiall WIlEl cwl. 09

Q.2 (@) Draw the neat figure showing elements of simple circular curve and derive the 07
equation for finding length of curve and length of long chord.

Y. 2 A ALEL dMousR asoll e sl €RL dal asell dousS wal Adl 09
818a{l dotteSatl YA el

(b)  Give the field procedure for setting out of curve by Rankine’s method. 07
o wsleel UeH(Q Yool (§esHi as Az scloll Id cvll. 09
OR

(b) Calculate the ordinates at 10 m interval for a circular curve having a long 07
chord of 100 m and a versed sine of 4 m.

ol 100 m AL SIS WAl 4 m ddS UYel Aol dQ0USIR <45 HIZ 10 m 09
oz vgA2 U Aol S18all A Yoyl vgAeall 2Rl 52A.

Q.3 (@ The independent coordinates of two points “A” and ‘B’ are Point A =130 N, 07
110 E, Point B =220 N, 150 E. Calculate the length and bearing of line AB.

Yysi.3 W %l A WA B RAotoll A 2HL A=130N, 110 E 3l B=220N,150E 09
Slal dl Aol AB ol clollss dal Q3oL 2.

(b) Explain the procedure for theodolite traversing using included angle method. 07
o lrAslelse HARMEL Hizoll 805¢f3s AWalctoll A UMl 09
OR

Q.3 (@ The length and bearing of sides of closed traverse ABCDA are as given in 07
below table .Find out corrected consutive coordinates by transit rule.

Line Length(m) Bearing
AB 75.5 30° 24
BC 180.5 110° 36’
CD 60.25 210° 30’
DA 183.5 74° 05
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Line Length(m) Bearing
AB 75.5 30° 24
BC 180.5 110° 36’
CD 60.25 210° 30°
DA 183.5 74° 05

Explain repetition method of horizontal angle measurement by theodolite.

dlaslauszdll al3lBeed yel ducell AUz stoll A umendl.

What is tacheometric surveying ? Give principle of tacheometer and enlist the
merits and demerits of tacheometric surveying.

25l ALs udal WeA g ? 251AALs udSaell Rtulc asuucll

Aotl $IRAEL Aol ARSLAEL AW,
Calculate the stadia constants using following data.

Instrument Staff station Distance Staff
Station between inst. and intercept(m)
staff station(m)
o A 50 0.5
B 100 1.0
o{lAotl 20lcall 32lall GUDL 531 R slal WSl dwtdl 3.
Instrument Staff station Distance Staff
Station between inst. and intercept(m)
staff station(m)
o A 50 0.5
B 100 1.0
OR

Explain fixed hair and tangential method of tacheometry.
25l Es udeSaloll (Bas 32 ual SeBRAUA Ul MR

Find the R.L of instrument axis if leveling staff held on B.M with angle of
elevation 3° and the staff readings are 2.64, 2.42 and 2.20 m. Take R.L of B.M
=100 m and stadia constants 100 and 0. Also calculate the horizontal distance
between instrument station and B.M.

Bl Aaclol 1% B.M UR Yslal 3° Aclladet wEl sla AR dlad @i
S0l 2.64, 2.42 AU 2.20 m Sl el RSl AUURLS 100 Wl 0(Yot)
8l dall B.M oll RL 100 m 8lA R a3Beed 2cllzslusll R.L (R.L
of instrument axis) Ul cAyHl BgHoE At Ul B.M Rt el
AR Boed ctrell dtatcddl 52

Enlist the steps for preparing gale’s traverse table.
AU glagl 2uic sloltaal Hi2ell ULl Al

Determine the elevation of the top of the tower using following trigonometric
observations. The tower and instruments are in same vertical plane. Take R.L
of B.M =150 m.

| Instrument station |

Angle of elevation |
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P

2.85

25°

Q

2.75

18°

ol Aot 2UAHL WAA ZLNAREs ASlolell Gulol 53l 2lare{l G
Aell. 2leR daUl BorgHoe WS Adlsc W@otHl ®. BM R.L = 150 m

Al
Instrument station B.M reading Angle of elevation
P 2.85 25°
Q 2.75 18°
OR

Derive formula for trigonometric leveling when base of object is inaccessible
and both instrument axes are at same level in same vertical plane.

Qolelngls Aacldol 12 o BRghez sy AdA &l wal AUsy
Adlsd WQetHl SlA AR WeBs2oll A (UlAl) A AslA Al o sl

Aol Hi2ell %33 Yol Rl

Define: Latitude, Departure, Consecutive coordinates,
coordinates, Degree of curve, Point of tangency, total station.

vl AU AZleYs, SlUlAUR, soxyddla sl-ulllSae, SetslUesed 5l-
AUSA2, Slofl Ag sd, Woe vllg 2o%aRl, 22c R2et.

Independent
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